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b C1:55 » D1:74 ‘ ) ‘ BN LER 3 1,462
oA v 0 ‘ A ‘ W pea g 425
(28 | g pCO, g @ 33 ER T RS 3 I3+ (Kg)
N . RC 210.94 (kgn?)
1 L[] Lé *ﬁ‘ :'__ é. @ﬁ] f"b i:;;i/i‘fé; SRC 214.19 :k:mz) — 106,132,663
1 v SC 181.17 (kg'm?) 585.818.09
EES ﬁﬁﬁf?)’l v EX] 2.606 (kgL) 5.980 — 15,584
2 1 ‘E > fb B 7 1.65 (kgm?)
° T 3» @1] f 'Es T~152 < 212 (kg/n?)
15~302 < 25 (kgm?)
3. =] ng ¥ 1 f Eb x ye 0~dsae 275 (g - 3,227,858
AR 45~602 < 3.03 (kg/m?) o
60~752 < 3.58 (kg/i)
4’ B '#' %; t,a': B 75~90:2 < 441 (kgm)
= v [90s < s 5.51 (kg/ni) 585,818.09
A 20.81 (kg - yr)
5. p¥#-kE o T
- v ﬁfi 9058 (kzmz . )):r) 279,637.51
o2 . . — ek E‘_jﬂ £x 143.82 (kg/m? «+ yr) 40 2,296,655,729
60 B '# "’:7- Si @ﬁg?](.l 'l jfr::_ _é iﬁé‘;‘l_ ‘78'1‘ ) Fee v ;”‘y’:ii—ﬁf 179.32 (kg’m’«ir: 162,610.00
V| 104.04 (kg/m? + yr) 28,139.20
N 4% 90.58 (kg - yr)
1.09 (kg/m? « yr) 0.00
7. B '#’ i‘:— pEEkE |V prokE :).195 (k:m - 1,652,233.33 40 12,887.420
" v 0211 (kgkm) 5,336,300 w 0167
W g i ! m 551, o
8' #ﬁ— 5% ﬁ; *g fé 'E' PoFERE z ‘”:: Etzt@) ;::),;5)2 40 178,911,320
T 171 (kgm?)
A l - V4 T~15 2.2 (kgm?)
i 9 LB— 3 7? ’lﬁ# iﬁ .-E-. (CP) 15~30 zwkém
e e | e
ﬁ%;‘L - 2 650 309 267 kg 60~75 371 (gim)
75~90 4.57 (kgm?)
Vo902 2 b 5.71 (kgm?) 585.818.09
A7-18 43+ COpt e (ke) 2,650,309267 |36




SR == — P sEOLEME T
)m 2= KAz 1285 M ETBERLAKET =
*ER T (FRE)S1(CN)
CN=TCO,+TCO2e1+TCO,e2+TCO,w+TCO,s1+TCO,52+TCO,83+TCO,54+TCO,r+
TCO,v +TCO,m1+TCO,m2
1. % 1 & 4 Fs(TCO,) (kg)= 205,608.97
2. *h & & & (TCO2el)(kg)= 426,099,550.27
3. P & i (TCO2e2)(kg)= 471,598,367.16
4. & -k B 3% F (TCO2w)(kg)= 3,897,736.3
5.k $-k 4 & R 2% F (TCO2s1)(kg)= 2,616,000
6.7k 4 38 rkok A 8 R 2% F (TCO2s2)(kg)= 102,797,712.64
7.5 B B R R T E (TCO2s3)(kg)= 3,259,386.86
8. % it #% LR BL 2% ¥ (TCO2s4)(kg)= 80,360.16
9.3 B ¥ R B § (TCO,r)(kg)=416,492,448
10. 8 3% T #5822 £ (TCO,v)(kg)=18,357,807
11.% 1 P Bz HiE # R sc 5 (TCO,m1)=968,357
12,479 R0 A b v o A% ¥ (TCO,m2)=81,722
A %= CN/CP = 1,446,455,057/ 2,650,309,267= 54.58%
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o TSP PM PM
AR < W , S Tmza TR
TR OHE | L (PR HE |, | PR HE | T
£ 2 2
EEERES 1.04 1.0 0.69
(L2 [0 119 095 | 12099 | 66 | 051 | 6751 | 26 | 039 | 27.08
-5) & 1.99 1.51 1.08
2> B HE | R 0.15 0.14 0.11
(L2 [sum| 119 095 | 12010 | 66 | 051 | 66.65 | 26 | 039 | 26.50
-5) [z 1.1 0.65 0.50
2~ RHE | Bk 024 0.23 0.15
(L2 8 [SUR| 119 095 | 12019 | 66 | 051 | 66.74 | 26 | 039 | 26.54
-r) |22 1.19 0.74 0.54
32 Y | sk 0.62 0.58 041
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ME) |83 1.80 1.23 0.90
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pEIR PR A-l 3,355 (m?)  0.7(m¥ %) 04 0.1 191.8
K ESR IR I B-4 240 (%) 2(4/%) 1 03 144
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